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QUESTION 1

A customer required software that provides recommendations for data placement in appropriate pools on
the IBM Storwize V7000.

Which IBM Spectrum Control feature enables this?

A. Cognos

B. Advanced analytics

C. Performance Reports

D. Easy Tier

Correct Answer: D

Reference: https://www-356.ibm.com/partnerworld/wps/servlet/download/DownloadServiet?

id=JUhU1cUIAyeiPCA$cntandattachmentName=ibm_system_storage_svc_easy _tier_in_7_3.pdfandtoken=MT
UilMzM2MTQ3NDU3Mg==andlocale=en_ALL_ZZ

QUESTION 2

In addition to compression savings, what information is shown in a Comprestimator output?
A. Thin provisioning savings

B. Encryption savings

C. Data deduplication savings

D. Pattern removal savings

Correct Answer: A

QUESTION 3

A customer is considering purchasing an IBM Storwize V7000 but is concerned about performance scalability.
Significant growth is expected.

What should the IBM technical specialist discuss with the customer?
A. Ability to expand to a 4-way cluster

B. Built-in detailed performance monitoring and alerting

C. Virtualization features providing significant flexibility

D. Tiered-distributed cache across a cluster architecture
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Correct Answer: D

QUESTION 4

A customer is looking an IBM Storwize V7000 based on NL-SAS drives against dual drive failure but wants the most

efficient use of the capacity of the device.

Which RAID scheme should the customer consider?
A.RAID 6

B. RAID 5

C.DRAID 5

D. DRAID 6

Correct Answer: A

QUESTION 5

During the last 10 years, a company has refreshed its storage environment three times. This has caused

extended outages.

Which functions or attributes of the IBM Spectrum Virtualize address these concerns?

A. Rebalancing extents across a storage pool

B. HyperSwap using intra-cluster synchronous remote copy
C. Cloud integration and stretched cluster

D. External virtualization and non-disruptive data migration

Correct Answer: B
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